2019EE ARV ZF77IFa7INT7—XEFIEMRABER(BEAR)

BifER [5H238 (K)
B{EI—X |/\—FE=—E/JLXTIWNTHIS5T MEKE) ~ 6,256YardsPar72
HiZ AS (1414
JE{Z K4 FEHFI—X ouT IN GROSS
1 o B HEINIY57 35 35 70
2T miE 1Eif N—E=—EIR 35 36 71
2T #EHT FIA INTFR 35 36 71
4T 2\ — JI\FH 37 35 72
4T 2% — FEIN7I-R 36 36 72
4T EL #A& 27—V 33 39 72
4T M FEZ —b - B FH 38 34 72
8T N EENIOY S 34 39 73
8T MO =i ERGC 37 36 73
8T ¥ BE— FELHIY 37 36 73
1T TH ¥ HEINIY57 36 38 74
1T EH HE INTFR 36 38 74
11T =H IF— JI\FH 37 37 74
1T BER BX FEELHAOY 35 39 74
1T FE BRX =1 - BRI D Fx 40 34 74
1T AR E— RBFID Fx 36 38 74
17T Z IEA -><FHJ%':‘}L7777“ 37 38 75
17T & EE{E XEmMGC 38 37 75
17T HZFAX 5P EE.:I:: V73-2 41 34 75
17T BH IE1T 2=V 36 39 75
17T B2 Bt A GL 38 37 75
17T BEE fRX N—E_—EIAR 37 38 75
17T =B = £HOH36 39 36 75
17T * \K IEZ =N -BEE5-VEN 40 35 75
17T X8 X RBFID Fx 39 36 75
26T ANHE & EmRGC 38 38 76
26T ¥ 1IEBH XELXIW73-2 38 38 76
26T EH =E XNn—EZ—tIR 40 36 76
26T INE SENE HhEINII57 36 40 76
26T B 7 XEFEEN 7YY 38 38 76
26T Tk 2E N—EZ—E)LR 39 37 76
26T izl 2=V 38 38 76
26T $5K sl 4 —nN—) 38 38 76
26T L E— INFH 39 37 76
26T X _Ft N—EZ—E)LR 39 37 76
26T AR E=— TAIGL 40 36 76
26T FE = N -HERF 38 38 76
26T gl #E BIENT Y 36 40 76
39T g = BIENT Y 35 42 77
39T NN E= E+a373-2 40 37 77
39T AR #Fth INTFH 42 35 77
39T HE ES INTFH 41 36 77
39T /AR _Eth FEELHAIY 38 39 77
44T EH —IF HKN—EZ—EIR 36 42 78
44T NI BR INTFH 40 38 78
44T B H— KN—EZ—tbLR 39 39 78
44T HiE H£R J\FHR 37 41 78
44T HiE Ih FELHAIY 36 42 78
44T 2H & E+a373-2 43 35 78
44T NS EE XHERF D 39 39 78
44T XEE EX L£HPH36 40 38 78
44T =¥ HA N—E=—EIR 40 38 78
44T RS — Do s A L oF | 39 39 78
44T Hi. FHA A D % 41 37 78
44T £I £k REFID Fx 37 41 78

1/3R=Y




44T FHh ER N—E=—EIR 37 41 78
44T BE B N—E=—EIR 36 42 78
58T A\KA = I ] 40 39 79
58T mi XELI)-Y 37 42 79
58T ESEENEA BIENT Y 40 39 79
58T =8 M— T ARs— 40 39 79
58T WE BA T ARs— 40 39 79
58T BRIl EE N—E=—EIR 40 39 79
58T A i BAEENT Y 37 42 79
58T k% AR £HOH36 35 44 79
66T R #h TEE 39 41 80
66T X LHOH36 40 40 80
66T Bir &R =+ 73-2 40 40 80
66T TE HIE JL=AYyY 37 43 80
66T AR BR— EENOY S 38 42 80
66T AR E— XthIRINII77 43 37 80
66T ik &S BRENT ) 41 39 80
66T BH E— TAIGL 41 39 80
66T F2 BFE XINFH 41 39 80
66T ik BX IDIL il 40 40 80
66T Hd F8 BIENT Y 41 39 80
66T HBE T= =27y 37 43 80
78T BX = JL=RyY 43 38 81
78T HR HE =27y 39 42 81
78T EE 28 INFR 39 42 81
78T W BE—BAR A GL 41 40 81
78T ®BE 1T =27y 39 42 81
78T AR ik INFR 45 36 81
78T X¥t BHE LHOH36 42 39 81
78T IMNE E Xt —=n-=4 39 42 81
78T FIE_Eth IAIGL 44 37 81
18T =)l &4 X TEE 43 38 81
78T FEE BA XIBFD FH 38 43 81
78T H)Il E£8& T ARS— 36 45 81
78T BEE B2 EREENT )Y 39 42 81
9T dtH 2 EtTI073-2 41 41 82
AT FE & EmRGC 41 41 82
AaT RAR FE] RBFID Fx 41 41 82
1T oH &E FELHIY 39 43 82
9T IR BEE =27y 41 41 82
AT EF w3k =2x7-V 39 43 82
AT fall E— INFR 37 45 82
91T INR EFD 2=V 41 41 82
91T ol EE BIEENT Y 41 41 82
1T g E—- REF1 D 7% 43 39 82
101T R =8 J\FHR 37 46 83
101T AlE XELIIN73-R 39 44 83
101T ik EfE X EEHOH36 43 40 83
101T IR E REF0 D 7% 39 44 83
101T FlE HX Xh—vL1htHR 40 43 83
101T B ELH BIENT Y 40 43 83
101T =z 7] REF0 D 7% 41 42 83
101T B IEE T£E 38 45 83
109T BE £8 BIENT Y 40 44 84
109T 8 BX A GL 44 40 84
109T FaITE BIENT Y 39 45 84
109T hf%x =5 XERGC 42 42 84
109T RE &X HEINI977 40 44 84
109T Ml #BA REF D 7% 43 41 84
109T BA N—E=—EIR 38 46 84
109T #0O FE T£E 40 44 84
117T HE B EENT )Y 44 41 85

2/3R—=2




117T & Ba ERvI 45 40 85
1177 ik EER XIBFID Fx 44 41 85
1177 AR B JGMFHE 38 47 85
17T il %197 INTFHK 42 43 85
1227 B E BIENT )Y 45 41 86
1227 TR HhEINIIFT 41 45 86
1227 E S XIBFID Fx 45 41 86
1227 =K EIF BIENT )Y 43 43 86
126T ZE ZA| NE-—ELR 40 47 87
126T ¥AE  fln FELHIY 40 47 87
126T KEZE IEfE L=yL{9THIR 40 47 87
126T EARE FE L=yL{9THIR 45 42 87
126T [’ 83X JGMFEEE 46 41 87
126T E¥ FH HEZ 40 47 87
126T iRE 15 =+ 73-2 40 47 87
126T e FOX I\VFR 43 44 87
126T £H #E2 TEE 40 47 87
126T XE 5 TAIGL 42 45 87
136 ot Flz £ HOH36 45 44 89
137T Hil & XIRFI D 7% 50 41 91
137T =N EEN0Y S 43 48 91
139T N2 BAENTvY 44 49 93
139T EAR HE B0 Fx 45 48 93
ZiE ¥ X =27y - - -

3/3R—=T




